D.C. RELEASE DESCRIPTION DATE BY [ 10" = 17-0” B FLEETWCOD |PAGE /03—07—9097/2
DRAWN: |DATE:
Gary P 10—19-04 RECREATIONAL VEHICLE GROUP SHEET 1 OF 5§
PR T 03800 " FURNACE DUCT ROUTING INFO
PLOT: AUX.
12—00 01/24/11 08/19/08 09:31:54 001quezayNFO-
DUCT— FLEX HEAT 4 DIA EEENQEEES 42
(C12-2001)
MAX LENGTH 16 FEET
——— eSS el ——
||l|||||||||||||||||||||||||||||||||||||||||||VA}!.
"I
T jp&_ o IO
1l
[T \’@%HHH\ (T2 T
O ﬁj I
MOV —
-
~
\
/ —T0O TANKS
\/‘ iiiiiiiiiiiiiiii e T — —
H\HHHH\HHHHW@ " 1! =4 Sl
T = T
e
I 1 —— 1k Mo — — — — — — —

NOTES:

1. TYPICAL CONFIGURATION SHOWN.

TYPICAL HEAT

DUCT CONFIGURATION

NOT ALL MODELS USE ALL DETAILS.

2. ALL HOT & COLD PLUMBING, DRAIN PLUMBING AND ELECTRICAL WIRING

TO MAINTAIN 17

CLEARENCE AROUND FURNACE.

3. SEE SHEETS #4, 5 & 6 FOR TYPICAL FURNACE INFO.



D.C. RELEASE DESCRIPTION DATE BY [P v = 1o

= FLEETWQOD [ 703—07-90972

Gary P 10—19-04 RECREATIONAL VEHICLE GROUP |SHEET 2 OF 5
PROJECT:

11703800 & FURNACE DUCT ROUTING INFO
12—00 01/24/11 PLO

T ;
08/19/08 09:31:47 001quezayN"O-

DUCT— FLEX HEAT 4 DIA
(C12-2001)

COLLAR— DUCT GALV
6 X 6 X 4 DIA
(B72—3100)

: 7[ FLOOR

R ‘ ,
R PR . !
OO oo oo D r '
| |

RIVET— 3/16 X OW*BS/
% \PLENUM— GALV
1

/AVDEL (M95—1202) 2X
1/2 X 8 1/2 X 16

TO FURNACE =——

SCREW— SHTML #8 X 5/8
PPH PLTD (2X)
(M59-0804)

SEE NOTE #1

BRIDGE FRAMING

(B73-0111)
SECTION C
BRIDGE FRAMING
PLENUM= GALV DUCT— FLEX HEAT 4 DIA
VIEW D | 11/2 X8 1/2 X 16 TO FURNACE ——— (C12-2001)
(B73-0111)
SCREW— SHTML #8 X 5/8
_— BPH PLTD (2X)
PLENUM TO MOUNT SCREW— SHTML #8 X 5/8 (Shé?@g?g%
UNDER BRIDGE FRAMING PPH PLTD (2X) |
(M59-0804) COLLAR— DUCT GALV 6 X 6 X 4 DIA
SEE NOTE #1 [IU00IIM—" 572=3100)
BELOW FLOOR PLENUM 7 SEALANT— SEAM BLACK
/ (R14—0317) 1/4 DIA BEAD ALL AROUND
C— 0O
= : N 4, — FLOOR
\AR DISCHARGE THROUGH
FLOOR TO SERVICE COMPARTMENT
NOTES: AND/OR TANK COMPARTMENTS
1. SEAL AROUND HEAT DUCT W/ TAPE— DUCT 2 (R25-0021) AFTER SCREWS ARE SET. SECTION A

(IN FLOOR PLENUM)




NOTES:

1.

2.

D.C. RELEASE DESCRIPTION DATE By [SCAE 22 _ 41_g” gRED HEHMWD |E’S.GE 703—0/7/—90972
DRAW%OW P DATE}O,Wg,M RECREATIONAL VEHICLE GROUP |SHEET 3 OF 5
12—00 01/24/11 PR 703000 & FURNACE DUCT ROUTING INFO
PLOT: AUX.
14—-00 01-23-13 08/19/08 09:49:32 001quezayNO-
SEE NOTE #2
CONN— DUCT 4 DISCHARGE N
HYDF 1474 (C12—0105)
SEE NOTE #8
CLAMP— #64 ADJ MTL N
39/16 — 4 1/2
(M86-0060) REGISTER— 2 ROUND \
GAS INLET SCREW— SHTML #8 X 3/4
PMTH PLTD AB (M57-2805)
TAPE— 3/4 PLUMBERS
(b35-0101) DUCT— FLEX HEAT
i 2” DIA (C12-2002
SEE NOTE #1 S DUCT— FLEX HEAT N ( ’
# > : 4 DIA (C12-2001) \
CONN— DUCT 2 DISCHARGE ‘ ’ ' \CAB\NET
HYDF 36688 (C12-0104) ‘ PSS\
N\ \ \
CLAMP— #36 ADJ \ N
METAL 1 13/16 — 2 3/4 ( TAPE— 3/4 PLUMBERS
(M86—0036) ( (D35-0101) LAVY REGISTER
‘P SCALE: 3" =1'-0"
SCREW— SHTML #8 X 3/4 DUCT— FLEX HEAT 2 DIA
PMTH PLTD AB (M57-2805) (fl (C12-2002)
@ \
&, o
SCREW— SHTML #8 X 5/8 24 1/4
PPH PLTD (2X WHEN ROUTING THROUGH
(2X%)
(M59-0804) PREFINISH=LUAN FURNACE REGISTER T~
SEE NOTE #8 ?4 1/2 WHEN ROUTING SCREW— SHTML #8 X 5/8 —
THROUGH 3/4 PLY PPH PLTD (2X)
(M59—0804)
DUCT ADAPTERS ARE INTERCHANGEABLE, VENDOR SUPPLIED 6. SEAL AND FASTEN WITH SCREWS— SHTML #8 X 3/4
AND NOT NECESSARILY LOCATED AS SHOWN. PMTH PLTD AB (M57-2805).
USE SCRAP LUMBER TO BLOCK UP REAR OF FURNACE 7. FOR 20M BTU (C10-0205) TWO 4" DUCT CONN.

1 1/8 WHEN REQUIRED. SECURE TO FLOOR W/SCREW M67-0806.
HEAT REGISTER — MATERIAL TO BE U.L. LISTED,

ATTACHED WITH SCREWS. SEE FLOOR PLAN FOR SIZE AND LOCATION.
PLUMBERS TAPE — DUCT SECURED EVERY FIVE FEET OR LESS.

ALL SEALERS ARE BEAD OF SEALANT — TYPE D

(R14—0317) ALL ROUND & CENTERED.

ARE SUPPLIED WITH FURNACE.

FOR 25M BTU (C10-0255) THREE 4” DUCT CONN.

ARE SUPPLIED WITH FURNACE.

FOR 30M BTU (C10-0315) THREE 4” DUCT CONN.

ARE SUPPLIED WITH FURNACE.

PRODUCT GROUPS TO PROVIDE ANY ADDITIONAL AS REQUIRED.

SEAL AROUND HEAT DUCT W/ TAPE— DUCT 2 (R25—0021) AFTER SCREWS ARE SET.



SCALE: USED PAGE
D.C. RELEASE DESCRIPTION DATE BY 2" = 1'-0” ON: |N0. 703—07—90972
Gary P 10—19-04 RECREATIONAL VEHICLE GROUP SHEET 4 OoF 5§
1703800 "™ FURNACE DUCT ROUTING INFO
PLOT: AUX.
12—00 01/24/11 01/19/09 12:21:43 044imels [N°O-
SEE NOTE #5 _
f CH%E 36D6%C8T é@‘f%?éﬁfﬁ CONN— DUCT 4 DISCHARGE SEE NOTE #3
HYDF 1474 (C12-0105
( ) [H O T
TAPE— 3/4 PLUMBERS DUCT— FLEX HEAT
(D35-0101) 4 DIA (C12-2001) [0OQ0

100010

100040

DUCT— FLEX HEAT N
2 DA (C12-2002)  COLLAR= DUCT 4 X 4

X 2 DIA (B72-3004)

\ 1 J‘
TAPE— 3/4 PLUMBERS
SEE NOTE #4

(D35-0101)
DUCT— FLEX HEAT (TYP)

2 DIA (C12-2002) FURNACE UNIT SUPPLIED W/SIDE KNOCK—OUTS
OR PLENUM BOX, 28GA. GALV. STEEL OR
EQUIVALENT W/SIDE CUTOUTS.

ma:umn: Snnnnani:un (@) el
O

1000,

CONN— DUCT 2 DISCHARGE

(SIeXeX!

— / pa—
REG— PLST2 1/4X9 7/8NON—ADJ(DUR-BG) o Dé%igof) HYDR 36688 (C120100)
(C12-4012)
BOX— REG GALV 2 3/8 X 10 X 3 (D&C;;ggg HEAT 2 DIA

(B72-0010)

TYPICAL CONFIGURATION

A
@

\
%W//
\
8

ROUT IN BATH WALL

REGISTER DETAIL
SCALE: 2 1/2” = 1'=0"



D.C. RELEASE DESCRIPTION DATE BY [ 1 12" = 1'-0” o FLEETWCOD |PAGE 703—07—9097/2
DRAWN: |DATE:
Gary P 10—19-04 RECREATIONAL VEHICLE GROUP SHEET 5 oF 5§
2703000 """ FURNACE DUCT ROUTING INFO
PLOT: AUX.
12—00 02-21-11 08/19/08 09:49:24 001quezayNFO:

UBELLY

FLOOR A23-0070
/ /SHT ALUM.

6.56
SQ. IN.

ALTERNATIVE CROSSOVER DETAIL

L] |

/ SIDE WALL FURNACE
T /

6.56
SQ. IN.

04 12.566 SQ. IN. AREA
\>//—7< 3.142 SQ. IN. AREA
| —LPG INTAKE USE SELF—TAPPING / \ /7[
;l/SCREW (M70—0805) ( + ) 1 +\
SHELF— FURNACE \ / ./
o / MOUNTING. )SEE MATRIX ~ N
B10—MT05
5
¢ &é\ FLOOR\ SEE NOTE W\ EJSE WOOD SCREW 12.566 5Q. IN. AREA 3.142 SQ. IN. AREA
:g M67—0806) — —f%
DG i { / L/
=] 3 5ol
I I
4 3/16] 12.566 SQ. IN. AREA N 2T
VERTICAL MOUNTING OF FURNACE (SIDE VIEW) ‘ 7 ¢ 3.142 5Q. IN. AREA
11/2 11/2 /
b | b
NOTES: ‘ 8 3/8 | — -2 1/8

” bi)
1. SHIM AS REQUIRED TO KEEP FURNACE LEVEL & FLUSH WITH SIDEWALL 4" DUCT 2 DUCT



